
Десятичные дроби



Выразите:  
а) в километрах: 

4 км  502 м 
6 км  11 м 
1 км  3 м

 б) в тоннах: 
5 т  1152 кг

 9 т  8 кг 
2 т  5 ц



Сравните:  
а) 15,57 и 15,057;     
б) 7,089 и 7,809;   
 в) 11,70 и 11,7.



Вычислите:  
а) 2,8 + 1,9;   
б) 13,5 – 6;    
в) 1,2 ∙ 5;
г) 21 – 3,15;   
д) 4,9 + 17;    
е) 7,2 : 0,6.



Вычислите:
 
а) (23,527+6,894)-3,294;  
б) 14,1 – 3,58 – 4,42.



Упростите:   
       а) 7,29 + р +3,31;  
       б) 13,24+ х – 1,24.



В одном бидоне 8,7 л 
масла, а в другом на 
1,25 л больше. Сколько 
литров масла в двух   
 бидонах вместе?



Решите уравнение:

а) х – 5,2 = 4,9;   
б) 12,1 – (х + 5,8)= 1,7;             
в) 2,9 + х = 3,5;  
г) (у-3,7) – 1,8 = 4,7.



Вычислите:

а) 50,05 – 2,15 ∙ 23;   
б) 120 – (48 ∙ 2,3 + 2,7);   
в) 220,6 – 15 ∙ 3,56 ∙ 4;
г) 53 ∙ 3,72 – 2,72 ∙ 17;   
д) (2,8 ∙ 52 – 9,3): 4,7.



Домашнее задание
 
1.Решите уравнение:
  а) 6,7 – х = 2,8;                 б) у – 2,7 = 3,4;    
в) (х + 3,5) – 4,8 = 2,4        г) (7,1 – х) + 3,9 =4,5.
2.  Вычислите:
а) 1,27 ∙ 31 – 18,07;        
б) 83,8 + (24 ∙ 5,7 – 4,7);   
 в) 12 ∙ 3,44 ∙ 5 + 43,6.


